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Figure 16.2a

Stator of a 3-phase, 500 MVA, 0.95 power factor, 15 kV. 60 Hz, 200 ¢/min generator. Internal diameter: 9250 mm:
effective axial length of iron stacking: 2350 mm; 378 slots.

(| Courtasy of Marine Industrie)
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Synchronous Generator: Rotor

Figure 16.4

This 36-pole rotor is being lowered into the stator shown in Fig. 16.2. The 2400 A dc exciting current is supplied by
a 330 V, electronic rectifier. Other details are: mass: 600 t; moment of inertia: 4140 t-m®; air gap: 33 mm.
(Courtesy of Marine Indusirie)



Figure 16.7b
Rotor with its 4-pole dc winding. Total mass: 204 t; moment of inertia: 85 t'm?; air gap: 120 mm. The dc exciting cur-
rent of 11.2 kA is supplied by a 800 V dc brushless exciter bolted to the end of the main shaft.
(Courtesy of Allis-Chalmers Power Systems Inc., West Allis, Wisconsin)
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